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AZ Rotation 1 (10:00~) AZ Rotation 2 (10:40~)

Ho 0|& 5= 3Z T 48 Ho 0| 5= 3T gnE
1 MISCH X 1 GetA X
2 atA X 2 NSO X

HS ol E z £ =8 2g HS = E £ =28 2k
1 Mzl X 1 ueg X
2 gt X 2 =zl X
3 I3l X 3 [of &l X
4 olof & X 4 Zals X
5 zals X 5 Hoflx| X
6 T x| X 6 &x|el X
7 £xlel X ! A Bl X
8 Hixf 2l X 8 2z X
9 o1z X 9 AR X
10 4o X 10 ojd=E X
11 S X 11 M X
12 AMAH X 12 Mgz X

AZ Rotation 3 (11:20~) AZ Rotation 4 (11:55~)

HS olE S £ 28 2g HS 0|2 E £ 48 22
1 Izl X 1 ofof & X
2 olof & X 2 A X
3 zals X 3 ol x| X
4 Mo x| X 4 &x|el X
5 2% ol X 5 urAj ol X
6 b ol X 6 2z X
7 a7 X 7 4 X
8 241 X 8 ojdE X
9 olgdx X 9 ZMA X
10 AMA X 10 Mer X
11 Mzl X 11 st X
12 BEZd X 12 == X

BX Rotation 1 (12:40~) B= Rotation 2 (13:15~)

HE olg S £ 28 2l HS olE E £ 48 2l
1 olEd | «x 1 etaal X
2 4ol X 2 qEE X
3 4d88 X 3 ol & X
4 olX & X 4 ol&® X
5 o|l£&& X 5 Al el X
6 Al 7 H X 6 a4 X
7 14 X 7 2oy X
8 24y X 8 X2 X
9 X2 X 9 daig X
10 25 2 X 10 Mot X
11 o2 X 11 ks X
12 nx 2 X 12 ol=& X

B= Rotation 3 (13:50~) B= Rotation 4 (14:25~)

HS olE = = =48 22 HS o|l§ = = 28 22
1| Hgd x 1| olde x
2 olx & X 2 o4& X
3 o|l&& X 3 Al X
4 Al el X 4 a4 X
5 | 7Lt X 5 209 X
6 201 X 6 MR X
7 MX|2 X 7 Zafel X
8 P X 8 o2 X
9 M72 X 9 X 2 X
10 IR X 10 ol=¥ X
11 ol T2l X 11 & al X
12 oFx{o| X 12 Ll X




